- Escreva em letras maiúsculas e a bold “Semana 11” no início das suas respostas. Estas devem ser entregues na aula de 3f  13 Dez.
- As respostas devem ser manuscritas e de preferência em esquemas (fique como uma cópia para si).

Já que é ‘obrigado’ a responder às questões, aproveite para aprender o máximo. Assim:

- Comece por ler os apontamentos da aula pelo menos uma vez (o ideal seria duas).

- Sem olhar para os apontamentos, tente responder às ‘questões’ (se às vezes não conseguir, consulte os apontamentos).

A18: Minsky’s  explanation of the cycle

a) How contractions lead to depressions

1.a)Why do businesses’ debt-to-equity ratios remain low some years after an economic contraction?
b) What are the macroeconomic implications of that fact? Explain.
b) Explanation of economic booms

2. a) Why are businesses’ debt commitments easily met at the beginning of expansions?

b) What’s the effect of that fact on investment? Explain.

3. “The rising investment during booms leads to an increase in rK of many businesses”. Why?

4. The rising investment financed with an increasing proportion of debt during booms leads to an increase in rK of many businesses - and to an even greater increase of their profit rates.  ”. Why?
5. Explain the two ways through which rising profit rates during booms ends up leading to rising stock prices. 
6. Explain the reasons why corporate interest rates may rise after a certain point in an economic boom.
c) Explanation of economic recessions

7. “A situation with many businesss with high debts relative to productive capital can easily lead to quick and wide downward revisions of acceptable debt/equity ratios.” Why?

8. The quick and wide downward revisions of acceptable debt/equity ratios impact negatively on new investment. Why?

9. “Initial downward revisions of acceptable debt/equity ratios tend to lead to further revisions of those acceptable ratios.” Do you agree? Explain.

10. Declines in stock prices tend to reduce new investment of some businesses. Which businesses? Explain.

11. Declines in stock prices tend to lead to be self-reinforcing. Why?

